
D

D

54X

21X

11X

41X541X

6215X

551X

381X

591X

661X

54X

81X

101X

?1X

?2X

211X

54X

61X

643X

283X

701X

391X

401X

601X

733X

811X
Chain 50 LPF

676X

411X

111X

151X

121X

131X

171X

161X

331X

831X

841X

582X

5011X

491X

291X

551X

321X

473X

54X

11X
473X

61X

211X

701X

5011X

851X

582X

SECTION D-D
SCALE 1 : 1.5

473X

321X

562X

676X

693X

5011X

601X

202X

361X

341X

481X

191X

32X

7212X

71X

615X

91X

223X

182X

792X

141X

541X

801X

831X

841X

741X

521X

1    11

461X

792X

Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



301X

311X

421X

401X

391X

676X

643X

653X

283X

61X

241X

81X

531X

431X

752X

371X

562X

686X

6215X

632X

101X

32X

451X

752X

541X

F

902X

891X

861X

234X

291X

341X

733X

6215X

661X

591X

551X

?2X

2    11

G

DETAIL G
SCALE 1 : 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Clock 26-Back Frame Wood 12mm thk 1
2 Clock 26-Front Frame Wood 12mm thk 1
3 Clock 26-Frame Spacer Wood 2
4 Clock 26-Escape wheel Wood 9mm thk 1
5 Clock 26-Gears-60 Teeth Wood 9mm thk 4
6 Clock 26-Gears-38 Teeth Wood 9mm thk 1
7 Clock 26-Gears-32 Teeth Wood 9mm thk 1
8 Clock 26-Gears-30 Teeth Wood 9mm thk 1
9 Clock 26-Gears-20 Teeth Wood 9mm thk 1
10 Clock 26-Gears-15 Teeth Wood 9mm thk 1
11 Clock 26-Dial Wood 9mm thk 1
12 Clock 26-Hour Gears-30 Teeth Wood 8mm thk 1
13 Clock 26-Hour Gears-32 Teeth Wood 8mm thk 1
14 Clock 26-Hour Gears-10 Teeth Wood 8mm thk 1
15 Clock 26-Hour Gears-8 Teeth Wood 8mm thk 1
16 Clock 26 Hour Hand Plastic 1
17 Clock 26 Minute Hand Plastic 1
18 Clock 26-Dial Spacer Wood 2
19 Gear spacer - long Wood 1
20 Clock 26-Spacer 12mm Wood 2
21 Clock 26-Release Wood 12mm Thk 1
22 Clock 26 Sprocket- 12-2 Plastic 2mm Thk 3
23 Clock 26-Chain Guide Wood 8mm thk 4
24 Clock 20-Drum Wood 1
25 Clock 20-Ratchet Wood 8mm thk 1
26 Clock 26 Winder shaft spacer Wood 1
27 Clock 26-Winder Spacer Wood 1
28 Clock 26 Winder Shaft-Pawl Wood 9mm thk 3
29 Clock 24-Pendulum Pivot Block Wood 9mm thk 1
30 Clock 24-Pendulum Bob Wood and Brass 1
31 Clock 24-Pendulum Lock Wood  6mm thk 1
32 Clock 24-Pendulum Rod Carbon Fibre Ø6xØ4x1150mm 1
33 Clock 26-Gravity Arm Wood 9mm thk 1
34 Clock 26-Gravity arm top spacer Wood 1
35 Clock 26-Spacer 12mm Wood 1
36 Clock 26-Shaft Sleeve-6 Wood 1
37 Winder Shaft Brass Ø8 x 140 1
38 Clock 26-Lifting Lever Wood 9mm thk 1
39 Clock 24-Weight Anchor Wood 12mm thk 1
40 Clock 24-Weight Tube Insert Wood 9mm thk 1
41 Clock 24-Weight Tube Plastic Tube Ø68x2 1
42 Weight - End Plug Wood 9mm thk-nut recess 1
43 Clock 26-winder back stop Pawl Wood 9mm thk 1
44 Clock 26-Trigger Wood 9mm thk 1
45 Clock 26-Remontoire Pawl Wood 9mm thk 1
46 Clock 26-Brace Wood 9mm thk 1
47 Clock 26-Wall Spacer Wood 9mm thk 3
48 Clock 26-Frame Spacer Small Wood 9mm thk 1
49 Clock 26 Bearing Plug Large Wood 1
50 Clock 26 Bearing Plug Wood 11
51 Clock 26-Spacer 2 Wood 2
52 Clock 26-Spacer 31 Wood 1
53 Clock 26-winder backstop Wood 8mm thk 1
54 Clock 26-Pendulum pivot Steel Ø6x 68 mm 1
55 Clock 26-Lever arm Stop Steel Ø3 x 18 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
56 Nut 6mm M6 nut 2
57 Clock 24-Threaded rod-weight Stainless Steel M6 1
58 Clock 26 Hour Gear Pivot Steel 2
59 Clock 24-Headed Pin 1 Steel 1
60 Clock 26-Main Shaft Steel Ø4 x 150 1
61 Clock 26-Shaft 112 Steel Ø4 x 112 5
62 Clock 26-Pinx22 Silver Steel Ø2 x 22 15
63 Clock 26-Sprocket Pin-34 Steel Ø2 x 34 2
64 Clock 24-Winder Pawl Pivot Steel-headed pin 3
65 Clock 24-Winder Pawl Stop Steel Ø3 x 18 3
66 Clock 26-Pendulum impulse Pin Steel Ø4 x 70 1
67 Domed nut-m6 Brass 6
68 M6 Washer Brass or Delrin 6
69 Threaded rod-m6 Steel Threaded rod Ø6 x 130 3
70 Clock 26-Weight Cord Blind Cord Ø1mm 1
71 Bearing 6-10-3 MR106ZZ 4
72 Clock 20-Bearing Ø4mmxØ10mmx4mm MR104ZZ 12
73 Clock 26-woodscrew-long Brass C/Snk 3
74 Clock 26-Headed Pin 53 Steel 1
75 Clock 26-Headed Pin 24 Steel 2
76 Clock 26-Stop pin-24 Steel Ø1.5 x 24 1
77 Clock 26-Stop pin-52 Steel Ø1.5 x 52 1
78 Clock 23-Bearing 8mm Ø8mmxØ14mmx4mm 2
79 Clock 26-Dial support pin Steel Ø4 x 27 2
80 Clock 26-Hour Gear Sleeve Wood 1
81 Chain 50-LPF Chain 50 links per foot 1
83 Clock 26-Escapement Weight-2 Wood and Brass 1
84 Clock 26-Roller Wood 1
85 Clock 26-Pinx13 Silver Steel Ø2 1
86 Clock 26-Catch Wood  1
89 Clock 26-Gears-12 Teeth Wood 8mm thk 1
90 Clock 26-Sprocket Pin Steel Ø2 x 37mm 2

Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



351X

202X

541X

DETAIL H
SCALE 1 : 1

271X

371X

653X

251X

782X

371X

D

D

I

I

N

N

O

O

54X

21X

11X

41X

?4X

541X

6215X

551X

381X

?2X

591X

661X

?1X

?1X

?1X

54X

81X

101X

891X

?1X

?2X

211X

54X

61X

643X

283X

701X

391X

401X

601X

861X

733X

881X

Chain 50 LPF

?1X

571X

676X

411X
SECTION I-I

SCALE 1 : 1.5

261X 271X

491X

782X

61X241X701X371X

251X 202X

291X

693X

676X

321X

733X
341X

541X

686X

 
0.63

16.00  

341X

3    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



4    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



0.
39

10
.0

0

0.
39

10
.0

0

0.
39

10
.0

0

0.
55

14
.0

0
0.

39
10

.0
0

0.
24

6.
20

0.1
6

4.0
0

0.246.20

0.24
6.20

0.3910.00

 
3.15

80.00   
1.

57
40

.0
0

 

0.16
4.00

 
2.83

72.00  

 
0.

83
21

.0
0

 

 
3.54

90.00   
2.38

60.52  

 
1.

54
39

.0
0

 
0.246.20

 
2.

95
75

.0
0

 

 
0.31
8.00  

 
3.07

78.00  

 
3.15

80.00  

 
2.

76
70

.0
0

 

 
2.95

75.00  

 
0.89

22.50  

 
20.28

515.07  

 
7.

99
20

3.
00

 

 
2.07

52.49  

 
1.

18
30

.0
0

 

21X
Front frame
Scale 1:2
Wood

 
0.47

12.00  

 
2.

76
70

.0
0

 

 
2.95

75.00   
3.72

94.50   
3.15

80.00  

 
2.83

72.00  

 
0.

83
21

.0
0

 

 
3.54

90.00  

 
7.87

200.00 

 
2.

23
56

.5
9

 

 
2.38

60.52  

 
3.07

78.00  

 
1.11

28.30  

 
1.76

44.70  

 
0.98

24.98  

 
0.31
8.00  

 
2.32

58.89  

 
1.

34
33

.9
1

 
 

2.
96

75
.0

9
 

 
0.

35
9.

00
 

 
2.33

59.23  

0.
06 1.
50

 
0.72

18.32  

 
0.

03
0.

87
 

 
2.07

52.49  

 
1.

18
30

.0
9

 

0.
24

6.
20

0.
16 4.
00

0.061.50

0.246.20 0.123.00 0.3
9
10

.00 0.3
9

10
.00

0.3910.00
0.06
1.50

 
0.

72
18

.2
4

 
 

1.
10

27
.9

3
 

 
0.19
4.78  

0.
24 6.
20

0.2
4
6.0

0

0.3
9

10
.00

0.24
6.20

0.
39

10
.0

0

0.5514.00

0.
24

6.
20

0.3910.00

0.246.20

11X
Back frame
Scale 1:2
Wood

2mm Chamfer on three holes

 
3.70

94.00  

32X Frame Spacer
Scale 1:1
Wood

 
0.71

18.00  
Square

 
0.

08
2.

00
 

 
0.25
6.40  

Square

 
1.57

40.00  

473X
Wall Spacer
Scale 1:1
Wood

 
0.

71
18

.0
0

 
S

qu
ar

e

 
0.25
6.40  

Square

 
3.70

94.00  

481X Frame Spacer
Scale 1:1
Wood

 
0.47

12.00  

 
0.

47
12

.0
0

 
S

qu
ar

e

 
0.25
6.40  

Square

 
0.08
2.00  

 
0.47

12.00  

 
2.

95
75

.0
0

  
0.39

10.00  

 
0.

79
20

.0
0

 

 
0.

35
9.

00
 

 
0.35
9.00  

 
0.

35
9.

00
 

 
3.70

94.00  

Brace
Scale 1:1
Wood

461X

0.20

R5.000.12
3.00

 
0.

94
24

.0
0

 

431X

 
0.35
9.00  

0.16
4.00

1.18
30.00

531X

 
0.35
9.00  

0.
24 6.
00

0.
12 3.
00

 
0.96

24.50  

 
0.04
1.00  

752X
Headed pin
Scale 1:1
Steel

 
0.

20
5.

00
 

 
0.

08
2.

00
 

0.39
10.00

0.
55 14
.0

0

Bearing Plug
Scale 1:1
Wood

5011X

 
0.

20
5.

00
 

 
0.

08
2.

00
 

0.7118.00
0.55

14.00

Bearing Plug large
Scale 1:1
Wood

491X

0.1
6
4.0

00.7920.00

Dial spacer
Scale 1:1
Wood

182X

0.79
20.00

 
0.

35
9.

00
 

0.16
4.00

Dial Support Pin
Scale 1:1
Wood

792X

 
1.

06
27

.0
0

 

 
5.12

130.00 

M6 Threaded Rod
693X

M6 Threaded rod
Scale 1:1
Stainless Steel 5    11

0.246.00  
2.56

65.00  

541X Pendulum Pivot
Scale 1:1
Stainless Steel

Backstop Pawl
Scale 1:1
Wood

Backstop 
Scale 1:1
Wood

Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



8.82
224.00

0.04
R

1.001.34
R

34.00

1.
42

R3
6.

00

0.5113.00

 
2.76

70.00  

6.17
156.60

J

J

111X
Dial 
Scale 1:1
Wood

 
0.35
9.00  

 
0.

06
1.

50
 

0.
16 4.
00

 
0.30
7.50  

6.
17

15
6.

60

 
0.18
4.50  

SECTION J-J
SCALE 1 : 1

2mm 
Chamfer

171X
Hour Hand
Scale 1:1
Plastic

161X
Minute Hand
Scale 1:1
Plastic

0.
17

4.
20

2.3660.00 PCD

2.52
64.00

2.09
53.00

121X
Gear 30 T
Scale 1:1
Wood

 
0.35
9.00  

0.35
9.00

2.68
68.00

2.5264.00 PCD

2.2
4
57

.00

131X Gear 32 T
Scale 1:1
Wood

 
0.35
9.00  

0.
16 4.
10

0.41
10.40

0.77
19.50

0.6316.00 PCD

151X
Gear 8 T
Scale 1:1
Wood

 
0.35
9.00  

0.16
4.00

0.05
R1.30

 
0.31
8.00  

0.92
23.32

0.57
14.40

0.7920.00 PCD

141X

 
0.35
9.00  

 
0.47

12.00  

 
0.59

15.00  

0.35
9.000.31

8.00

0.17
4.20

801X Hour Gear Sleeve
Scale 1:1
Wood

Gear 10 T
Scale 1:1
Wood

6    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



701X
241X

643X

653X

261X

251X

283X

371X
271X

61X

Winder Shaft Assembly

 
1.57

40.00  

 
0.14
3.50   

0.28
7.00  

 
0.06
1.50  

Pin drum to shaft in
position shown on 
final assembly

1.77
45.00

0.4812.30

241X

 
0.71

18.00  

1.
22 31
.0

0

 
0.06
1.50  

 
0.35
9.00   

0.85
21.50  

 
0.06
1.50  0.

47 12
.0

0

261X Winder shaft spacer
Scale 1:1
Wood

0.328.20
0.6

3
16

.00

0.06

R1.60

0.
47 12
.0

0

1.1830.00

0.9
8

24
.78

251X Ratchet
Scale 1:1
Wood

 
0.35
9.00  

0.12
3.00

283X
Winder shaft Pawl
Scale 1:1
Wood

 
0.35
9.00  

 
2.40

61.00  

271X Winder Spacer
Scale 1:1
Wood

0.47
12.00

0.
32

8.
20

1.10

R28.04

1.0
1

R25
.63

0.12
3.00

0.12
3.00

0.47
12.00

2.9976.00

3.
15

80
.0

0

2.76
70.00

61X Gear 38 Teeth
Scale 1:1
Wood

 
0.35
9.00  

 
0.

47
12

.0
0

 
 

5.
51

14
0.

00
 

0.31
8.00

371X

Winder Shaft
Scale 1:1
Brass

 
0.

22
5.

50
 

S
qu

ar
e

Gear 12 Teeth
Scale 1:1
Wood Chain Guide

Scale 1:1
Wood

 
2.38

60.50  

 
0.24
6.00  

902X
891X

615X
234X

223X
234X

861XDrive Shaft Locking

0.082.00  
1.46

37.00  

902X
Sprocket pin
Scale 1:1
Steel

0.082.00

0.1
6
4.0

0

1.1028.00 0.9
4
24

.00
 P

CD

0.71
18.00

0.4712.00

891X

 
0.47

12.00  

 
0.73

18.50  

 
0.06
1.50  

643X
Winder Pawl pivot
Scale 1:1
Steel

0.2
4
6.0

0

0.123.00

0.1
2
3.0

0 
0.71

18.00  

653X Winder Pawl Stop
Scale 1:1
Steel

0.3
1
8.0

00.
08

2.
00

0.16
4.00

0.4712.00

234X

1.
38 35
.0

0

0.
83 21
.2

0

 
0.22
5.50  

 
0.06
1.50  

 
0.31
8.00  

 10° 

0.08
2.00

0.082.00

0.83
21.20 PCD

 
0.08
2.10  

0.4
7
12

.00

1.04
26.50

223X

 
0.08
2.00  

 25° 

 
0.04
1.00  

0.75R19.00

 
0.

87
22

.0
0

 

0.082.00

 
0.09
2.25  

0.04

R1.13

 
0.

63
16

.0
0

 

0.
47

12
.0

0

861X
Catch
Scale 1:1
Wood

0.
31 8.
00

 
0.35
9.00  

 
0.12
3.00  

 
4.19

106.50 

615X
Shaft 112
Scale 1:1
Steel

0.1
6
4.0

0

Drum
Scale 1:1
Wood

Sprocket
Scale 1:1
Plastic 7    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



 
2.50

63.50  
 

0.24
6.00  

211X234X223X615X234X41X632X6215X

Note Chain Guides sprockets and 
shaft drawn on Sheet 7

Escape Wheel Assembly

 
0.07

1.90  

 20
° 

1.7
7

R45
.00

1.
02

R2
6.

00

4.33110.00 1.73
44.00

 1
3°

 

 24° 

 24° 

41X Escape Wheel
Scale 1:1
Wood

 
0.35
9.00  

0.
79

R2
0.

00

0.318.00

0.08
2.00

0.164.00

 
1.40

35.63  

 5° 

 4
0°

 

 
0.

12
3.

00
 

0.16
4.00

 8° 

211X
Release
Scale 1:1
Wood

 
0.35
9.00  

1.
57 40
.0

0

 
0.12
3.00  

0.
08

2.
00

 
0.87

22.00  

6215X Pin 22mm
Scale 1:1
Steel

0.0
8
2.0

0
 

1.34
34.00  

632X
Sprocket Pin 34
Scale 1:1
Steel

361X

601X 202X 54X

71X

Gear Train 1

 
1.00

25.50   
1.99

50.50   
1.50

38.00  

 
0.24
6.00  

361X
Shaft Sleeve
Scale 1:1
Wood

0.3
9
10

.00

0.164.00

0.
16

4.
00

2.68
68.00

2.5264.00 PCD

2.2
4

57
.00

71X
Gear 32 Teeth
Scale 1:1
Wood

 
0.35
9.00  

0.16
4.00

4.72120.00PCD

4.88124.00

4.47
113.60

54X
Gear 60 teeth
Scale 1:1
Wood

 
0.35
9.00  

 
5.91

150.00 

601X
Main Shaft
Scale 1:1
Steel

0.1
6
4.0

0

0.91
23.00

0.164.00

202X Gear spacer 23 dia
Scale 1:1
Wood

 
0.47

12.00  

8    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



91X 615X 191X 54X

See Sheet 8See Sheet 7

Gear Train 2

 
1.46

37.00  

 
0.73

18.50  

0.16
4.00

1.7344.00 1.5
7
40

.00
PCD

1.28
32.60

91X

 
0.35
9.00  

0.7
9
20

.00

0.164.00

191X

 
1.30

33.00  

 
0.73

18.50   
2.28

58.00  101X 202X615X 54X

See Sheet 7 See Sheet 8See Sheet 8

Gear Train 3

0.16
4.00

1.3434.00
1.18

30.00

0.94
24.00

101X
Gear 15 teeth
Scale 1:1
Wood

 
0.35
9.00  

81X 615X 351X 54X

See Sheet 8See Sheet 7

Gear Train 4
 

1.56
39.50   

1.46
37.00  

0.16
4.00

2.5264.00

2.36
60.00

2.0953.00

81X
Gear 30 teeth
Scale 1:1
Wood

 
0.35
9.00  

0.7920.00

0.
16

4.
00

Gear Spacer
Scale 1:1
Wood

351X

 
0.47

12.00  

811X

Chain From
Meadows and Passmore LTD
Part number 0388 010014
Iron Chain 50.5 Links per foot. (LPF)
Length used in Prototype 660mm

Chain Drive

Gear 20 teeth
Scale 1:1
Wood

Gear spacer-Long
Scale 1:1
Wood

9    11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



 
1.

00
25

.4
0

 

PP

71
Bearing MR106ZZ 2 - 4 required Pendulum Assembly

0.
24 6.
00

 
45.28

1150.00 

541X 291X 321X
311X 301X

Carbom Fibre tube Ø6mmx1150 mm long

Main Weight Assembly

10    11

 
1.00

25.40  

0.3910.00

0.50

R12.70

291X

 
0.

47
12

.0
0

 

0.
24

6.
00

0.24
6.00

 
2.56

65.00  

541X

3.
50 88
.9

0

 
0.88

22.23  

 
0.

30
7.

62
 

Q

Q
301X

Pendulum Bob
Scale 1:1
WoodSECTION Q-Q

SCALE 1 : 1

 
0.

26
6.

60
 

 
0.26
6.60  

 
0.80

20.32  
0.3

4
8.6

0

 
0.

50
12

.7
0

 

 
3.23

82.00  

4.04

R
102.62

 
0.

43
11

.0
0

 

311X
Pendulum Lock
Scale 1:1
Wood

Sprung legs pull the hole tight 
against the Carbon Fibre rod.
Press in to release and adjust.

 
0.24
6.00  

 
8.

62
21

9.
00

 

2.70
68.58  

8.
27

21
0.

00
 

R

R

401X

421X

391X
676X

Same as Bottom but 
with no M6 nut recess

 
0.42

Ø10.6 

SECTION R-R
SCALE 1 : 1

To grip the M6 Nut

411X

571X

Fill with 2.5 KG Lead 

56

 
0.15
3.81  

 
0.63

16.00  

0.6
3

R16
.00

0.43
R10.92

 
0.15
3.81  

 
0.

47
12

.0
0

 

0.266.60

 
0.

28
7.

00
 

391X

Pendulum Pivot Block
Scale 1:1
Wood

Pendulum Pivot
Scale 1:1
Steel

Weight Anchor
Scale 1:1
Wood

Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2



591X 381X 551X

714X 331X 341X

661X

This pin used to hang washers 
if extra weight is needed to 
increase the impulse delivered 
by the gravity arm.

Gravity Arm Assembly

512X

S

S

0.39
10.00

0.123.00

0.164.00

0.12
3.00

0.1
6
4.0

0

 
1.73

43.82  

 
1.09

27.81  

 
1.97

50.00  

 
1.03

26.22  

 
0.14
3.67  

 
1.

50
38

.1
2

 

 
2.

39
60

.6
9

 

 
3.

73
94

.7
2

 

 
5.

45
13

8.
37

 

 
5.

93
15

0.
70

 

331X Gravity Arm 
Scale 1:1
Wood

 
0.35
9.00  

 
0.75

19.00  

 
0.04
1.00  

591X
Headed Pin
Scale 1:1
Steel

0.2
4
6.0

0
0.123.00

0.
16 4.
00

 
2.76

70.00  

661X
Pendulum Impulse Pin
Scale 1:1
Steel

0.123.00 
0.71

18.00  

551X
Lever Lever Stop
Scale 1:1
Steel

0.164.00 
1.14

29.00  

582X
Hour Gear Pivot
Scale 1:1
Steel

0.3910.00

0.
24

6.
00 

1.12
28.50  

341X Gravity Arm -top spacer
Scale 1:1
Wood

0.12
3.10

0.
20

R5
.0

0

 102° 
0.04

R1.00

 
0.7418.86  

 
2.13
54.16  

 57° 

 
0.

35
9.

00
 

Lever Lever 
Scale 1:1
Wood

381X

SECTION S-S
SCALE 1 : 1

841X 223X

851X

831X

Brass weight 
Adjust to acheive a weight of 27 grams.
Total weight of this assembly is 32 grams

0.31R8.00 0.08
2.00

 
0.

91
23

.0
0

 

0.60
15.20

Wood

Brass

831X Escapement weight
Scale 1:1
Wood and Brass

0.
60 15
.2

0

 
0.69

17.50  

 
0.30
7.70  

 
0.51

13.00  

1.07
27.200.092.20

841X

 
0.28
7.00  

 
0.08
2.00  

 
0.20
5.00  

0.
31 8.
00

0.
83 21
.2

0

0.0
8
2.0

0

851X

 
0.51

13.00  

Pin x 13
Scale 1:1
Steel

 
0.96

24.50   
0.04
1.00  

752X Headed Pin 24
Scale 1:1
Steel

0.24
6.00

0.123.00

0.061.50

 
0.94

24.00  

761X  Stop Pin 24
Scale 1:1
Steel

0.
20 5.
00

0.12
3.10

451X

Brass weight added if necesary

Remontoire Stop
Scale 1:1
Wood

Trigger Assembly

 
2.09

53.00   
0.08
2.00  

741X
Headed Pin 53
Scale 1:1
Steel

0.2
8
7.0

0

0.164.00

0.061.50

 
2.05

52.00  

771X
Stop Pin 53
Scale 1:1
Steel 0.16

4.10

0.
20 5.
00

441X Trigger
Scale 1:1
Wood

Brass weight
 added if 
necesary

0.318.00

0.1
6
4.1

0

Spacer 31
Scale 1:1
Wood

 
1.20

30.50  

521X

0.12
3.10

0.318.00

512X

 
0.08
2.00  

Spacer 2
Scale 1:1
Wood0.12

3.10

0.318.00
512X

Spacer 2
Scale 1:1
Wood

 
0.08
2.00  

A round nail is a possible 
base for this part

For the Sprocket 
See Sheet 7

Make roller in two halves 
and fit the Spocket in between
then glus the assembly together

Roller
Scale 1:1
Wood

Escapement Weight Assembly

11   11 Law Wooden Clock 26 - with Remontoire

All dimensions in mm and (inchs)
3rd Angle projection June 2016

Designed by: Brian law
www.woodenclocks.co.uk

Not to Scale
Unless otherwise stated

Sht    of    Shts A2


	Assembly
	Drawing View75
	Drawing View77
	Section View D-D

	BOM
	Drawing View72
	Drawing View79
	Detail View F (1 : 2)
	Drawing View82
	Detail View G (1 : 1)

	Assembly 3
	Drawing View84
	Detail View H (1 : 1)
	Drawing View87
	Section View I-I
	Section View N-N
	Section View O-O

	X Section
	Frames
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View93
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View98
	Drawing View99
	Drawing View100
	Drawing View101
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View116
	Drawing View136
	Drawing View137
	Drawing View139
	Drawing View143

	Dial
	Drawing View117
	Section View J-J
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View127
	Drawing View128
	Drawing View129
	Drawing View130
	Drawing View131
	Drawing View134
	Drawing View135

	Sheet 7
	Drawing View149
	Drawing View150
	Drawing View151
	Drawing View152
	Drawing View154
	Drawing View155
	Drawing View156
	Drawing View157
	Drawing View158
	Drawing View159
	Drawing View160
	Drawing View161
	Drawing View162
	Drawing View163
	Drawing View165
	Drawing View168
	Drawing View169
	Drawing View170
	Drawing View172
	Drawing View173
	Drawing View174
	Drawing View175
	Drawing View176
	Drawing View177
	Drawing View178
	Drawing View180
	Drawing View181
	Drawing View182
	Drawing View183
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View189
	Drawing View190
	Drawing View191

	Sheet 8
	Drawing View194
	Drawing View195
	Drawing View196
	Drawing View197
	Drawing View198
	Drawing View199
	Drawing View200
	Drawing View201
	Drawing View202
	Drawing View203
	Drawing View204
	Drawing View205
	Drawing View206
	Drawing View207
	Drawing View208
	Drawing View209
	Drawing View212
	Drawing View213
	Drawing View214
	Drawing View215
	Drawing View232
	Drawing View233

	Sheet 9
	Drawing View216
	Drawing View217
	Drawing View218
	Drawing View219
	Drawing View220
	Drawing View221
	Drawing View222
	Drawing View223
	Drawing View224
	Drawing View225
	Drawing View226
	Drawing View227
	Drawing View228
	Drawing View229
	Drawing View230
	Drawing View231
	Drawing View306

	Sheet 10
	Drawing View234
	Section View P-P
	Drawing View237
	Drawing View238
	Drawing View239
	Drawing View240
	Drawing View241
	Section View Q-Q
	Drawing View243
	Drawing View244
	Drawing View245
	Drawing View246
	Section View R-R
	Drawing View248
	Drawing View249
	Drawing View250

	Sheet 11
	Drawing View251
	Drawing View254
	Drawing View256
	Drawing View257
	Drawing View258
	Drawing View259
	Drawing View261
	Drawing View262
	Drawing View263
	Drawing View264
	Drawing View265
	Drawing View266
	Drawing View267
	Drawing View268
	Drawing View269
	Drawing View270
	Section View S-S
	Drawing View272
	Drawing View273
	Drawing View274
	Drawing View275
	Drawing View276
	Drawing View277
	Drawing View282
	Drawing View283
	Drawing View284
	Drawing View285
	Drawing View286
	Drawing View287
	Drawing View289
	Drawing View290
	Drawing View291
	Drawing View292
	Drawing View293
	Drawing View294
	Drawing View299
	Drawing View300
	Drawing View301
	Drawing View302
	Drawing View303
	Drawing View304
	Drawing View305


